[ Efficiency vs vertpos |

~0.02
.018

0.95

C - .

— B R R
Y .

— EER O E R R N R
C L

e R 4§ EEEEEEEEEE TR EEY ¥ F B R PP
— LR N crirpr
L . N £

— o|v-- B EEE T E B R R R
- . = [

. 2.4 Y T
C AN r

- o

=--F------ P R R O R
- k3 .

Y PR | N Y FPETTY | I ) AT
| e R R R

102

10 1 10 0?
TP vertr (cr%)

Efficiend

—=— DQM_MmKFIt_T1origmnal

—e— DOQM_mkFit_TTNEWHS-improved
—— DQM_mkFit_TToriginal-10i

—— DOM_mkFit_ TTNEWHSMS-improved

~n 0.2

R s S S S LR
n o : : : : :
Z0.16------ AR R R P
> : : : : :
2 E : : : : :
R S A S
o E : : : : :
£0.12-- A A R P
o : : : : :
O S S S ERR
0.08F--- """" """" """"
Y ST D S
R Al S KRS [N
0.02F------ L ' :

Ratio

[
T
e

g

0.95!

-20 -10 0 10 20 30

TP vert z (cm)

N 0.02r

8
o
s
o]
T

thc Sim.
XKy
o

IIIIIIIITIIIIIIII Im

o 9o
o o
S o
NS
T

- EEREEE EEER TR
A | L
it feeeenns P
N Y T A W Y
R R deeeeeeen Feeeeees
» Lo :
- -
pay il o ] [ A ]

iy
TTTT T T

|
o

50 5 10 15 20

Sim. PV z (cm)




	Contents
	Page 1


